Daily Compounded Coupon Accruals

The data included in these materials are for illustrative purposes only. The BLOOMBERG TERMINAL service and Bloomberg data products (the "Services") are owned and distributed by Bloomberg Finance L.P. ("BFLP") except (i) in Argentina, Australia and certain jurisdictions in the Pacific islands, Bermuda, China, India, Japan, Korea and New Zealand, where Bloomberg L.P. and its subsidiaries ("BLP") distribute these products, and (ii) in Singapore and the jurisdictions serviced by Bloomberg's Singapore office, where a subsidiary of BFLP distributes these products. BLP or one of its subsidiaries provides BFLP and its subsidiaries with global marketing and operational support and service. Certain features, functions, products and services are available only to sophisticated investors and only where permitted. BFLP, BLP and their affiliates do not guarantee the accuracy of prices or other information in the Services. Nothing in the Services shall constitute or be construed as an offering of financial instruments by BFLP, BLP or their affiliates, or as investment advice or recommendations by BFLP, BLP or their affiliates of an investment strategy or whether or not to "buy", "sell" or "hold" an investment. Information available via the Services should not be considered as information sufficient upon which to base an investment decision. The following are trademarks and service marks of BFLP, a Delaware limited partnership, or its subsidiaries:

BLOOMBERG, BLOOMBERG ANYWHERE, BLOOMBERG MARKETS, BLOOMBERG NEWS, BLOOMBERG PROFESSIONAL, BLOOMBERG TERMINAL and BLOOMBERG.COM. Absence of any trademark or service mark from this list does not waive Bloomberg's intellectual property rights in that name, mark or logo. All rights reserved. ©Bloomberg.

Daily Compounded Coupons

oat 08/04/26 Corp	Actions ▼	Settings 🕶			Page 1/	13 Secur	ity Descriptio	n: Bon
				94) 🗔 Not	es	95) Buy	96) Sell	
25) Bond Description	n 26) Issue	er Description	27) BI Cre	dit Research	BICC »			
Pages	Issuer Info	rmation			Identifiers			
11) Bond Info	Name B	ANK OF NOVA	SCOTIA		FIGI	BBG	D11RJQKH4	
12) Addtl Info	Industry B	anking (BCLAS	SS)		CUSIP	0641	.5FZC9	
13) Reg/Tax 14) Covenants	Security Inf	formation			ISIN	CA06	415FZC99	
15) Guarantors	Mkt Iss C	ANADIAN			Bond Rating	าร		
16) Bond Ratings	Ctry/Reg C/	A	Currency	CAD	Moody's	A2		
17) Identifiers		Unsecured	Series		S&P	Α-		
18) Exchanges	Est Con 5		Type	Floating	Fitch	AA-		
19) Inv Parties	Formula OV	RNT CAON +54	-000		DBRS	AAL		
20) Fees, Restrict 21) Schedules	Day Cnt AC		Iss Price	100.0000	Issuance &			
22) Coupons	Maturity 08		133 1 1166	10010000	Amt Issued		dina	
23) Impact	BULLET	7 0 17 2020			CAD		000.00 (M) /	/
Quick Links	Iss Sprd				CAD	,	000.00 (H) 000.000	
32) ALLQ Pricing		(999)STREET (CONVENITION	ı	Min Piece/I	,		
33) QRD Qt Recap						0.00/1,0		
34) TDH Trade Hist	Pricing Date			//12/2021				
35) CACS Corp Action	Interest Acc			//15/2021	Par Amount		1,000.00	
36) CF Filings 37) CN Sec News	1st Settle D			//15/2021 /04/2021	Book Runne	er	SCOTIA-sole	
38) HDS Holders				, ,		CULTETER	NOT LISTED	-
66) Send Bond		- COMPOUNDED	DAILY COR	RA. TWO-DAY	BACKWARD-	SHIFTED	OBS PERIOD	
og bend bond	AND NO LOC	CKOUT.						

Daily Compounded Coupons



Click on the "Coupon" field to view the compounding and accrual details.



Daily Compounded Coupon Details

0 0 Com	Compounding Floater Pop Up									
Ma	ax Index Date	Compounding Coupon Factor Compounding Accrual Factor								
04	/10/2024	1.01258642837329				0096780636955778				
	Observation	Observation	Accr	Index Dat	e	Effecti	Dail	ly Coupon ▲		
ردد	Start Date	End Date	Days	U3/ Z1/ ZU	4 7	Rate	Compoi	und Value		
36	03/22/2024	03/25/2024		03/22/20		5.02	1.000412			
37)	03/25/2024	03/26/2024	1	03/25/20	24	5.02	1.000137	53424658		
38	03/26/2024	03/27/2024	1	03/26/20	24	5.02	1.000137	53424658		
39)	03/27/2024	03/28/2024	1	03/27/20	24	5.02	1.000137	53424658		
40)	03/28/2024	04/01/2024	4	03/28/20	24	5.05	1.000553	42465753		
41)	04/01/2024	04/02/2024	1	04/01/20	24	5.04	1.000138	08219178		
42)	04/02/2024	04/03/2024	1	04/02/20	24	5.03	1.000137	80821918		
							_	Close		
								Close		
Vol Cu										
Fixed	Equivalent Yield	08/04/26	5.0798							

Fallback Accrued Example



Accrual Rate Calculation		<u>Notes</u>
Observation Start	2/1/2024	Accrual Start - 2bd observation period shift*
Observation End	4/10/2024	Settle -2bd observation period shift**
Rate Accrual Days	69	Exclusive of Observation End Date
Compounding Accrual Factor	1.00953977057632	
Annualized Rate	0.0504640	.00953977057632 x 365/69
Spread	0.0054	From Bond
All in Coupon	0.0558640	Annualized Rate + Spread
		<u>†</u>
Accrued Interest Calculation		Fan an astrol Fallback Courses
Trade Date	4/11/2024	For an actual Fallback Coupon, an additional 3M CDOR spread of 32.138 bp
Accrual Start	2/5/2024	would be added to the annualized CORRA
T+1 Settle	4/12/2024	rate.
Accrued Accrual Days	67	
Accrued	10.254.49	.0558640 x 1000000 x 67/365

08/04/26 Corp	Settings	▼ CAD	Spreads	will change	e on 4/22.	More >	Yield and	Spread	Analysi
					Notes	95)	Buy %	Sell	
1) Yield & Spread	2) Graphs	3) Pricing	4) Descr	iption 5)	Custom	6) Yields			
BNS Float 08/04	1/26 (06415FZ	C9)		M/M Equiv	to Next F	ix			
Price	99.5235 Settle		12/24	ACT/360	ACT	/365			
DM • (bp) 7	6.094875 to Ws	t 🔻		Price at R	efix 99.	.535061			
Yield	5.760949			on 05/06/	2024	24 Days			
Workout 08,	/04/2026 @ 10	0.00		Mmkt	0.	176663			
SFL	74.762								
Floater Information	tion			Risk					
Benchmark (CAONREPO <mark>Assu</mark>	med Rate	5.00000			To 05/06	/24	OAS	
Quoted Margin	54.00 11) Co	oupon	5.5884	Mod Durat	ion	0.	800		
Next Pay 05	/06/2024 Coup	on Freq Q	uarterly			0.	00813) Calcul	ate	
		Freq	Daily	Convexity		0.000	001		
Index to 05	/06/2024 5	.00000		DV 01 on	1MM		1		
OAS		er Analysis	YASN »	Invoice					
OAS		n Premium	0	Face			1	,000 N	
Discount Curve	RV7		_	Drincipal			005.2	25.00	
Forward Curve	OF REAL PROPERTY AND PERSONS ASSESSMENT OF THE PERSONS ASSESSMENT OF T	OIS Curve		Accrued (6	7 Days)		10,2	54.49	
Curve Shift (bp)	0 Z-Sp	read	44.2	Total (Chi	//		<u> </u>	77.17	
Vol Cube	VCUB •								
Fixed Equivalent	t Yield 08	/04/26	5.0906						

Compounding Floater Pop Up									
Max Index Date Compounding Coupon Factor Compounding Accrual Factor									
04/09/2024									
		Days	Tridex bate	Rate					
1) 02/01/2024	02/02/2024	1	02/01/2024	5.05	1.00013835616438				
2) 02/02/2024	02/05/2024	3	02/02/2024	5.05	1.00041506849315				
3) 02/05/2024	02/06/2024	1	02/05/2024	5.05	1.00013835616438				
4) 02/06/2024	02/07/2024	1	02/06/2024	5.05	1.00013835616438				
5) 02/07/2024	02/08/2024	1	02/07/2024	5.04	1.00013808219178				
6) 02/08/2024	02/09/2024	1	02/08/2024	5.04	1.00013808219178				
7) 02/09/2024	02/12/2024	3	02/09/2024	5.04	1.00041424657534				
n 02/12/2024 02/12/2024 1 02/12/2024 5 04 1 00012000210170									
					Close				

^{*}Observation Start Date used in Annualized Rate = Accrual Start - Observation Shift days used to align with Fallback Rate Calculation

^{**}Observation End Date used in Annualized Rate = Settle Date - Observation Shift days used in Observation Start

Fallback Accrued Example

Index Compounding Calculator

Index CAONREPO ▼ Bank of Canada											
Dates	Day	Date	Rate Date	Rate	Eff Rate	Factor •					
Start 02/01/2024 ☐ THU	THU	02/01/2024	02/01/2024	5.05000	5.05000	1.000138356					
End 04/10/2024 ☐ WED	FRI	02/02/2024	02/02/2024	5.05000	5.05000	1.000415068					
Inclusive No ▼	SAT	02/03/2024			5.05000	1.000000000					
Number of Days 69	SUN	02/04/2024			5.05000	1.000000000					
Day Count ACT/365	MON	02/05/2024	02/05/2024	5.05000	5.05000	1.000138356					
Curve	TUE	02/06/2024	02/06/2024	5.05000	5.05000	1.000138356					
Curve # 147 Currency CAD	WED	02/07/2024	02/07/2024	5.04000	5.04000	1.000138082					
CAD OIS Swap Curve	THU	02/08/2024	02/08/2024	5.04000	5.04000	1.000138082					
Other Inputs	FRI	02/09/2024	02/09/2024	5.04000	5.04000	1.000414247					
Comp/Avge Uniform •	SAT	02/10/2024			5.04000	1.000000000					
Spread (BP) 54	SUN	02/11/2024			5.04000	1.000000000					
Spread Use At End ▼	MON	02/12/2024	02/12/2024	5.04000	5.04000	1.000138082					
Index Lag 0	TUE	02/13/2024	02/13/2024	5.04000	5.04000	1.000138082					
Lockout 0	WED	02/14/2024	02/14/2024	5.04000	5.04000	1.000138082					
BD Factor Don't Apply	THU	02/15/2024	02/15/2024	5.04000	5.04000	1.000138082					
	FRI	02/16/2024	02/16/2024	5.04000	5.04000	1.000552329					
Outputs	SAT	02/17/2024			5.04000	1.000000000					
Factor 101.05606	CHM	02/18/2024			5.04000	1.000000000					
Effective Rate 5.58640	MC N	02/19/2024			5.04000	1.000000000					
Last ODS Date 04/10/2024	TUE	02/20/2024	02/20/2024	5.04000	5.04000	1.000138082					
	WED	02/21/2024	02/21/2024	5.03000	5.03000	1.000137808					
	THU	02/22/2024	02/22/2024	5.01000	5.01000	1.000137260					

Enter in the observation rate details to view the accrual rate.



